
Woodman’s Parts Plus 
www.woodmanspartsplus.com 

 

Drolet Optima Parts List 

Note that the quantities listed here below are the standard amounts that are found in each unit and not 

the number of items you need to order.  

# ITEM # DESCRIPTION QTY/UNIT 

1 AC01319 FIRE SCREEN DOOR  1 

2 30569 BLACK ROUND WOODEN HANDLE 2 

3 30025 1/4-20 X 1/2" PAN QUAD BLACK SCREW 1 

4 30185 17/64" "AA" TYPE WASHER 1 

5 30742 DRILLED BLACK WOODEN DOOR HANDLE 1 

6 SE24235 CAST IRON DOOR WITH GASKET AND HANDLE 1 

7 AC09196 HANDLE AND LATCH KIT 1 

8 AC09185 DOOR LATCH KIT 1 

9 AC06500 SILICONE AND 5/8" X 8' BLACK GASKET KIT 1 

10 SE65275 REPLACEMENT GLASS WITH GASKET 9 13/16" X 19" 1 

11 AC06400 BLACK SELF-ADHESIVE GLASS GASKET KIT (6') 1 

12 PL65272 LEFT GLASS RETAINER 1 

13 PL65270 TOP AND BOTTOM GLASS RETAINER 2 

14 PL65271 RIGHT GLASS RETAINER 1 

15 30124 SCREW #8 - 32 X 5/16'' TRUSS QUADREX ZINC 10 

16 SE65261 ASH DRAWER 1 

17 PL65290 BOTTOM HEAT SHIELD 1 

18 99999 BUILD TO ORDER 1 

19 AC01335 AIR MATE DECO DROLET 1 

20 AC01334 FRESH AIR ADAPTER 1 

21 SE45570 OPTIMA INSTRUCTION MANUAL KIT 1 

22 30129 METAL SCREW #10 X 1/2" PAN QUADREX ZINC "A" TYPE 2 

23 PL06728 AIR CONTROL HANDLE 1 

24 PL65256 AIR DAMPER COVER 1 

25 30138 METAL SCREW #6 - 3/8" QUADREX "A" TYPE BLACK 2 

26 30060 THREAD-CUTTING SCREW 1/4-20 X 1/2" F HEX STEEL SLOT WASHER C102 
ZINC 

4 

27 PL65277 AIR DAMPER COVER SUPPORT 2 

28 30094 HEX SCREW WASHER HEAD 1/4-20 X 3/4" F ZINC TYPE 2 

29 30428 BUSHING 2 

30 SE65253 AIR CONTROL DAMPER 1 

31 AC02050 ULTRA-QUIET 100 CFM BLOWER WITH VARIABLE SPEED CONTROL 1 

http://www.woodmanspartsplus.com/


Woodman’s Parts Plus 
www.woodmanspartsplus.com 

 

32 60013 POWER CORD 96" X 18-3 1 

33 44073 CROSSFLOW BLOWER 115V-60HZ-39W 100 CFM 1 

34 44080 RHEOSTAT WITH NUT 1 

35 44087 RHEOSTAT NUT 1 

36 44085 RHEOSTAT KNOB 1 

37 AC05530 THERMODISC KIT 1 

38 44046 THERMODISC F110-20F 1 

39 SE16059 ASH DUMP PLUG 1 

40 29010 4 1/2" X 9" X 1 1/4" REFRACTORY BRICK 11 

41 PL36027 3" X 9" X 1 1/4'' REFRACTORY BRICK 2 

42 PL36084 4" X 4 1/2'' X 1 1/4'' REFRACTORY BRICK 2 

43 PL36060 3 1/2" X 9'' X 1 1/4'' REFRACTORY BRICK 1 

44 PL36021 2 1/8" X 9" X 1 1/4'' REFRACTORY BRICK 2 

45 29015 4'' X 9'' X 1 1/4'' REFRACTORY BRICK 4 

 

http://www.woodmanspartsplus.com/

